
Squash Steiermark - 1. Klasse 2013/14
Sportzentrum Zeltweg, Bundesstraße 16, 8740 Zeltweg, 20:00 Uhr

11.10.2013 3. Runde

Paradies Judenburg 1 : 3

Nr.

1 Holzapfel Robert : Moitzi Michael 11 : 7 5 : 11 10 : 12 9 : 11 : 1 : 3

2 Waldner Markus : Amberger Christian 12 : 14 11 : 1 6 : 11 3 : 11 : 1 : 3

3 Fössl Armin : Seifter Georg 11 : 5 6 : 11 9 : 11 11 : 1 11 : 6 3 : 2

4 Kapun Johann : Zechner Christoph 4 : 11 6 : 11 4 : 11 : : 0 : 3

11.10.2013 3. Runde

Klagenfurt 1 Klagenfurt 2 4 : 0

Nr.

1 Klier Gerald : wo 11 : 5 11 : 5 11 : 5 : : 3 : 0

2 Kriegner Michael : wo 11 : 5 11 : 5 11 : 5 : : 3 : 0

3 Kogler Stefan : wo 11 : 5 11 : 5 11 : 5 : : 3 : 0

4 Jellen Christoph : wo 11 : 5 11 : 5 11 : 5 : : 3 : 0

11.10.2013 3. Runde

Judenburg Klagenfurt 1 1 : 3

Nr.

1 Moitzi Michael : Klier Gerald 8 : 11 1 : 11 3 : 11 : : 0 : 3

2 Amberger Christian : Kriegner Michael 5 : 11 11 : 8 11 : 8 1 : 11 9 : 11 2 : 3

3 Seifter Georg : Kogler Stefan 5 : 11 4 : 11 1 : 11 : : 0 : 3

4 Zechner Christoph : Jellen Christoph 11 : 6 11 : 8 11 : 7 : : 3 : 0

11.10.2013 3. Runde

Paradies Klagenfurt 2 4 : 0

Nr.

1 Holzapfel Robert : wo 11 : 5 11 : 5 11 : 5 : : 3 : 0

2 Waldner Markus : wo 11 : 5 11 : 5 11 : 5 : : 3 : 0

3 Fössl Armin : wo 11 : 5 11 : 5 11 : 5 : : 3 : 0

4 Kapun Johann : wo 11 : 5 11 : 5 11 : 5 : : 3 : 0

S N

1 Klagenfurt 1 4 0 14 : 2 42 : 8 527 : 312

2 Club Squash Paradies 2 2 10 : 6 32 : 21 491 : 422

3 RSA Judenburg 1 1 4 : 4 16 : 14 237 : 265

4 UWK Kardamint 1 1 3 : 5 11 : 17 236 : 258

5 UWK Verve 0 0 0 : 0 0 : 0 0 : 0

6 UWK Jugend 0 2 1 : 7 6 : 23 216 : 306

7 Klagenfurt 2 0 2 0 : 8 0 : 24 120 : 264

8 0 0 0 : 0 0 : 0 0 : 0

32 32 107 107 1827 1827

Resultat: Sätze: Punkte:

2. Satz 3. Satz1. Satz

Resultat: Sätze:

5 11 129 145
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Tabelle nach der 3. Runde
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